2020F EXEMEBESKIBESR (R ZAHURER (5] RiEoiik

(wmEA)
1. 9 SR HRY R S5 = Ak B85 X 50%+E L BE 2 ik 45 X 450/300 X 50%.

2. BBk CGRAD BARGEIINRREENZEER (G IR A 48R g bons iRt H R4t
TR LR AT R AR A% G825 S AR R SR A N SRR ) 35 B TR 4

Mgk, FIlTE CATRERI B &

(BN

3. BB R . B AP RIBEAL G Ja, HmBARYE A AT A SRR IEAT SR HL

. VN £ 5] .

s fep |F R TS| | s | 2y
EO5B1 iR (B1) | 245.8750 | 210.50 122 84 54 0
E13B1 T2%pi(B1) [251.3750 | 212.50 142 82 42 0
E18B1 RS2 BE(B1) | 267.6250 | 201.50 169 103 64 0
E31B1 JLPEA(B1) |262.5000 | 208.00 156 85 57 0
E35B1 ILRIRAL(B1) | 242.5000 | 208.00 128 70 45 0
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